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“Directive Principles is a novel feature in a constitution framed for parliamentary
democracy. They have no binding force. But whoever captures power will not be free
to do what he likes with it. He will have to respect the Directive Principles. He
cannot ignore them. He may not have to answer for their breach in a court of law,
but he will certainly have to answer for them before the electorate at election time.”
Who said this ?

(1) Pandit Jawaharlal Nehru (2) B.N. Rao

(3) Dr. B.R. Ambedkar (4) K.M. Munshi

2. WraT s @ HEeE shasEEd @ieie faue s =
(@) A TEuETE wel @gda ged ggEt TEArd.
(b) & T =aTerETEn =rieTga 994 9. I
(c) ﬁﬁmmmaﬁawﬁwmm.
(Q]Mmﬁﬁwﬁﬁmaﬁmﬁmﬁm Z HE Thaw,
Tt Fr faum /fauad aie ?

(1) %% (a) oX(2) (b) (3) e (a) AT chW{h) o (d)
Consider the following statements about the Comptroller and Auditor General of
India :

(a) He holds office during the pleasure of the President.

(b) He draws the same salary as a Supreme Court Judge.

(c) Before entering upon his office, he swears an oath or affirmation before the
Chief Justice of India.

(d) He may be removed by the President only after an enquiry by the Supreme

Court of India.
Which of the statements given above is/are correct ?
(1) Only(a) (2) Only (b) m (3) Only(a)and (c) (4) Only (b) and (d)
g, et o TEE Aieen A 5@“"? ,,.—Tr“
(1 wd s 0/ ) . gftfm srgawh A\ \
Who among the fodfwing was the first Chairperson of the National Commission for
Women ?
(1) Jayanti Patnaik (2)  Dr. Poornima Advani
(3) Dr. V. Mohini Giri (4) Vibha Parthasarthy
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=ag 169
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Which Article of the Indian Constitution empowers the Parliament of India to create
or abolish Legislative Councils, if the Legislative Assembly of the State passes a

resolution to that effect ?
(1) Article 168 (2) Article 167
(4) Article 169

) Article 166
WRA TPYA TSAUSISAl S ISl AEAdan Hare AAeEhgd Heell "
¥Tehara ?
(1) 3q=dg 142 (2) =% 145
143

(3) =8 147

According to the provision of which Article of the Constitution can the President of

India ask for advice from the Supreme Court ?
(1) Article 142 (2) Article 145

(3) Article 147 (4) Article 143

> 4
\/ Mﬁ@ﬁhﬂlg?siﬁa@aﬂﬁmmmmW?
(a) raﬁaamumﬁmﬁmﬁuhmmmm
| ot g a1 gAfdERd W grsfavaren agadtE sifumr 2uard ST
o aese 21 F=4 wH foie genm Afusn

)/ﬁaﬁammm A Pog| A, T
(d) ua@rﬁamaﬁwma?ﬁga‘hzaﬁmmé.

I :
O (a), (b) 3fT (d)

(a), (bJG?ITﬁ'HsL
(3) w4 (c) #0f07 (d) (4) w’%mﬁ(c)

Which of the following provisions were made by the 44th Amendment Act of 1978 ?

Provided for the creation of the All India Judicial Service.

(a)
(b) Empowered the President to send back once, the advice of the Cabinet for

reconsideration.
Provided that the Fundamental Rights guaranteed by Article 20 and Article 21

(c)
cannot be suspended during the National Emergency.
(d) Shifted five subjects from the State list to the Concurrant list.
Answer Options :
(1) (a),(b)and(c) . (2) (a), (b) and (d) ‘
@ ‘Only (c) and (d) (4) Only (b) and (¢)
ry S TR L s T LT T
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3) (o), (@ @ (4)~%7 (a) anfer (b)
Which of the followmg committees contains representﬁtives of both the Houses of the
Parliament ?
(a) Committee on Welfare of Scheduled Castes and Scheduled Tribes
(b) Committee on Empowerment of Women
(¢) Business Advisory Committee
(d) Committee on Privileges
(e) Estimates Committee

Answer Options :
(1) (a), (b) and (d) (2) Only (b) and (c)
s (3 (o), (d) and (e) (4) Only (a) and (b)
8. ¥ srgfaa Sl (vH.Hl.) SR TSgHe I HONHER TUI9 FOIT AT AR 2
(1) e\ 337 “cH 338
(3) %eH 336 (4) ®cH 335

The National Commission for Scheduled Castes (SC) is constituted by which Article
of the Constitution ?

(1) Article 337 (2) Article 338
) Article 336 (4) Article 335
\/ 13 fedan, 194675 Il wwarem wen wfudme) 3w sua wien,
(1) g FIer (2) wafse g
(3) . wAz yER AT srameena Tww
On 13" December, 1946 ____ moved the Objective Resolution in the
Constituent Assembly of India.
(1) Sucheta Kripalani (2)  Sarojini Naidu
(3) Dr. Rajendra Prasad (4)  Pandit Jawaharlal Nehru
e FTTATS! AT | SPACE FOR ROUGH WORK PTO.
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(a) faurrfa 8T fue qal

Frefy o ATEY. o

o fasg 8 7 (self-10

FT:ﬁ aﬁl_'ﬁa . mﬁTﬂ

- p &l //
(c) mfmmmammﬂa“‘
)/ watdt 39
(1) faum (a) TH . }
(3) faum (a) 3fET (b) T K
Consider the following statements 1 offence mMore than
. the same
(a) No person shall be prosecutod and puncllifhed for
. ; . redings. -

once, including any d t‘paﬂm(ﬁma? i g:tends to both oral evidence and
(b) The protection against self-incrimination

documentary evidence. 158

. v O imi and civil

(¢) The protection against self-incrimination extends to both criminal

proceedings.
Answer Options:
(1) Statement (a) is correct . (2) Statement (h) is correct
(3) Statements (a) and (b) are correct  (4) Statements (a) and (c) are correct

\ M~ wrefi faur fEem 5 . foaren
371 (A)He) FeleETd] e T HAT Sl AR

\/ Fa\nwmwaﬂ
(c) ZUAFM 7 AMASAES fafim
gt 39 : :

TR,
(@ Fawr (a) 3T (b) F ARA faem (a) st
7 / ;hm sider the following statements and
: choose th ion :
J @ Thospecial roviios e gk et et Al
icle 371 (A).

(b) No act of the Parliament i

) ' e nt in respect to Ty ,
. f.m be .1])[:']:«.(1 without the approval ufttl;le l'ﬁllg'lﬁus. or social practwea of Nagaa
¢) Tuensang is the most de\'ﬁlt}ped o e Ieg'mlatwe Assembly of Naga]md
Answer Options ; Istrict of Nagaland. : |

(1) Statements (a)
y and (b) are
correct

3 Statements (8) and (c) are corpacy (2)  Only statement (a) is correct

e TS A | SPACE FOR ROUGH WORK 4) Al the statements are correct

‘
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(3) ‘“ﬂmT’mi wexfem

ich of the fi ing i
(‘:’;"':hmuma‘: r‘;g;:’;m :sE:::; atian‘chshe?] principle of India’s foreign policy ?
(2) Mutual nun-interferEnm" €r's territorial integrity and sovereignty
(8) Peaceful coexistence

4) None of the above \q) t
‘-7%) maﬁg mm@mmm. . /QJ"""
a = | ; B v
(b) FTR2 19(1)(c) gey mmwmﬂﬁwﬂm:;aﬂmﬁrwm

© ﬁ*ﬂ_‘mmﬁmmm SR BRELAT o e, | U
() (a) s (c) raw smm (2)  (b) 3o (c) FTR ATRA C\(\\ '
8) (a) 300 (b) T 7R W) ol faum st sma -
(Gonml) %t: t;lebfolcl::nw Eng statements and choose the correct option :
ubject, ‘Co-operati ieties’ i i ituti
A £m en:i‘:fm?l?:ilt?tégﬁ 11'1113 been included in the Constitution of

(b) The right to establish ‘Co-operative Societies’ is given in Arti
{©) The first law related to Co pe leties’ 1s given in Article 19(1)(c).

i
o

BT ord Curon. -operative Societies in India was passed in the tenure
Answer Options :
(1) (a)and (c) are correct (2) (b) and (c¢) are correct

(3) (a) and (b) are correct (4)  All the three statements are correct

SRR 71 FA0) b T w0 (w0E 311) W Wi Fn e g&e am 2

(1) #F=d2 311 Gieh FHAS BV B AR Fadtel safehn Igeres Jr.

(2) #F=@z 311 @ref mmmmﬁmmhmﬁﬂaﬁmmm
(LIC, ONGC) Hriea Aufaa weaTie FH g A

@) wg=az 311 wfie T8 @ Faw wdl (Fam) T wrErEEE an o, s
(Temporary) %4 ATHTA.

ymeﬁmtmmmqmmwaWan

e gravren =t wel e JwE @ A, Sl

Which one of The Tollowing statements #Bout dismissal or removal of persons

employed in civil capacities under the Union or State (Article 311) is not correct ?

(1) Protection under Article 311 is not available to military personnel.

(2) The employees of statutory corporations such as the LIC, ONGC are not
entitled to the protection of Article 311.

(3) The provisions of Article 311 are applicable to permanent civil servants only
and not to temporary servants.

(4) Suspension of government servant from service is neither dismissal nor
removal and is not within the scope of protection of Article 311.
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oAb) ﬁmmmﬁmwmmaﬁmﬁww
wees sl 24T mmmma%mw%wﬁw
-.-. Em' m ﬁ m"a' L=
afettd o e / ?
: (a) Ff01 () (4) et THE ATE

/_1/ wad (a) @) (b) (3)
Consider the following statements : ‘
(a) A panel of Chairpersons is elected by the Lok Sabha from amongst its

members.
(b) A member of the panel of Chairpersons can preside over the Lok Sabha when
the office of the Speaker or the Deputy Speaker is vacant.
d member of the panel of

(¢) In absence of the Speaker, the Deputy Speaker an .
Chairpersons, the Speaker’s duties are to be performed by a member appointed

by the President.
Which of the statements given above is/are correct ?
/'(1} Only (a) (2) Only (b) (3) (a)and (c) (4) None of the above

\)é g faur faemm 934 i e
(a) ffern 2014 w4 I_’m__v‘:mfgsmam. w

(b) 2014 WA T fopTiar=n qran S
(c) 12t 41 |gueAd 30 T !
3
(a) AP (b) WO\ (2) F (c) T
(3) (a), (b) 311 (c) foredlt s (4) (a) AT (c) AR
Choose the appropfiate option among the following statements :

(a) Crimea was a part of Ukraine till 2014.

(b) Russia annexed Crimea in 2014. :
(¢) NATO consists of 30 member countries.

Answer Options :
(1) (a)and (b) are correct (2) Only (c) is correct
(3) (a),(b)and (c) are correct (4) (a)and (c) are correct
A :I:;:;?ijﬁzmwmwﬁﬂwdﬁwmﬁﬂ?ﬁm
(r}l ﬁ%ﬂ;{ﬁ )2)/51,3!1.#1. ' (ﬁ\g.d’t.m.%ﬂ. OA) ‘m.qa.m.:ﬂ’t.
ice 0 i ' 1
ormer ofwhlch'cminstitu:i Mamon : idala Jagadesh Kumar has been appointed as the
(1) NCERT (2) UGC (3) UPSC (4 ISRO
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(3) ¥AMA &=

___—d,
Who amongst the following was chosen s the “Time Person of the Year, 2021’ by the
Internationally acclaimed magazine — Time ?

(1) Malala Yousafzai (2) Ratan Tata
(3) Elon Musk (4) Kamala Harris

SRET 2022 WG AR, AT 77 B @, 3 Hoe S ga w2

(3) ﬁmﬁm (4) g
R. Nagaswamy died in January 2022. He was related to the field of
(1) Environment (2) Archaeology

Painting (4) Acting

ﬁmm%ﬂﬁ!fa?mlzwmﬁf&mﬂwmﬁmﬁ?
1 <= he) s

By W Hifen (4) fgw Fifen
Which country launched the Hwasong-12 mid-range ballistic missile ?
#ﬂﬂ
(1) China (2) Japan

(3) North Korea (4) South Korea

(1) gata T4 3 s
mm mmm m'
(3) - wrefi il F 11 =1 FIAhTd FHETE G I Fear wwes T, |
(@) @ gty faved wHiiEd FE T Wewe e, wme wEnf gevhand e
ArgETa wed €A FEA.
Find out the incorrect statement from the following about the Yazidi group-
(1) It is one of Iraq’s oldest minorities, -
(2) Thayareconcentrated in northern Iraq around Mount Sinjar.
(3) This ancient religion is rumoured to have been founded in 11th century by

e

Umayyad Shaikh.
(4) This religion has taken some elements from Christianity so they are targeted
by Islamic terrorist groups. | 5
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2022 - 23 = ¥ anfwwewra swebrh fufen fivemoee wit vt sl o
rquard! s el g ?

(1) 20% % A Iua (JE)
~(2)  25% a0 arfue Jget (89)
(@) 50% wt i I (34)

(-u 35% @t A Iyt (84) \
imposed on Cryptocurrency, a8 declared by the Centry)

h tax would be
i he Budget 2022 - 237

Finance Minister, Nirmala Sitharaman in t
(1) 20% tax plus cess
(2) 25% tax plus cess
(3) 30% tax plus cess
‘)41 35% tax plus cess

m*ﬁ“minﬁmzznﬁuﬁ?ﬁmmﬂmﬁ“&mwniﬁwﬂ
1) wegawE (2 MeaRE

(3) Fed wiew « qgiw tﬁﬁﬂ
Which racing driver won the Saudi Arabian Grand Prix Tournamant held in March
2022 ?

(2) Max Verstappen

(1) Charles Leclerc
(4) Lewis Hamilton

(3) Valtteri Bottas

\}/Eﬂ__ﬁwwmm (jam { Qe

mmmwm‘lﬁ“m:aﬁ
a&__ﬁqa geraTd1 A
(e} wmmmmmmmﬁm

/ﬁ
P (a) (2) % (b)

Which of the following statements is iucorrect about Pulwama ?

(a) Itis known as the Rice Bowl of Kashmir, .

(b) Veshu and Jhelum rivers are flowing from Pulwama.

(¢c) Aharbal Falls and Avantishwar Temple are famous tourist places near

Pulwama.
Answer Options :
(1) Only (a) (2) Only (b)
R A (4) None of the above

geeq] HTETATS! AT | SPACE FOR ROUGH WORK
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(b) T Fefiefias, 2012 yed fesi A 7 Hicaws PSR BN,

vt 3w ;

(1) 9 (a) ¥l Maﬂﬁr(b}m
(3) (a) 3fi (c) wiraw OPQ foedl fum s0er e
Choose the correct option.

(@) Deon Lendore of Trinidad and Tobago died in a car accident in January 2022,
(b) He won a Bronze medal in the London Olympics, 2012.
(¢) Deon Lendore was a Chess Player.

Answer Options :
(1) Only (a) is correct (2) (a)and (b) are correct
(3) (a) and (c) are correct (4) All the three statements are correct
/KA mmﬁ@mmmm@mﬁmaﬁ%w
g 6 3 2 Yo B o Sl
Xa) fafen A {47
(3) maEm (4) NS Yo v 7}

Which State has signed Bollywood actor Sanjay Dutt as the Brand Ambassador for
its Golden Jubilee celebrations ?

(1) Sikkim (2) Manipur

(3) Assam (4) Arunachal Pradesh

A
/Wmmmwmm@ 100 4% f ¥t ke 2
\ AT ST 9 HE (ILO) | T a
(2) @ 3 It WP (FAQ) | A™
(3) wmfas s Fae (WHO) | AW ¥
(4) w@Eg™ T9rE g9 (UPU) :
Which of the following UN ﬂﬁ-'c’iahzed agencies has completed 100 years of its
formation ?
(1) International Labour Organization (ILO)
(2) Food and Agriculture Organization (FAQ)
(3) World Health Organisation (WHOQ)
(4) Universal Postal Union (UPU)
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Grefte faum @ema e @ ity fae
(a) R SRR W e g e s &,
(b) T TG Fowe JeA B § i GfEHe et Hed ATl JAMS] T i,
4ol

(c) WRA WEHRA =1 2019 7edt ysf T wrer hen Q.

Tt T G B

(1) (a) 3n1fr (b) v ama (2) e () T AR
}V{a),(b)m(c)ﬁﬁaﬁmm (4) (a) 3N (c) W 3MRT

Consider the following statements and choose the appropriate option :
(a) Padma Shri Awardee Milena Salvini was born in Italy.

(b)  She was a famous Kathakali dancer and had established a dance school nameq
‘Centre Mandapa’ in Paris,
(¢} The Indian Government honoured her with Padma Shri Award in 2019.
Answer Options :
(1) (a) and (b) are correct (2) Only (c) is correct
/{'3) (a), (b) and (c) are correct (4) (a) and (c) are correct

Seferaren P v wrafe s afieh W e o 2
(1) %‘“ﬁ t{g'ﬁ-m.
& ot a4,

Bank to have an office in Australia’s
Victoria State ? )
(1) Dena Bank (2) SBI
(3) BOB (4) PNB
\)/ wwda Ze wfgae wom 377 R Tdiet Horen farwaren w3 o 2
A1) g v (2)  wwetfiraan

Q,aﬁm (4)  wrmet
Section 377 of the Indian Penal Code écj is related with whi :f\dl
subjects ?
(1) Temple entry (2) Homosexuality
(3) Adultery (4) Surrogacy -

YeqT FIHTHIE S | SPACE FOR ROUGH WORK. | o
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(2) TG Gl
‘Wqﬂm&vﬁm

‘All India States Peoples’ Congress’ at the nationa]
rganizations was active in Kolhapur to raise the conce

Before the formation of
which of the following o
the people ?

(1) Lok Sabha
(3) Vidhan Sabha

level,
rns of

(2) Rajya Sabha
(4) Paropakarini Sabha

et fasire st s :

(1) & (&) s feden (2) gt st
@ R @ fod e

Pick out the odd person from the following :

(1) Dr. (Mrs.) Laura D’'Souza (2) Sudhatai Joshi

(3) Sane Guruji

(4) Hirve Guruji
/1957Wﬁﬁﬁmﬁmn@ummmﬁmﬂm?

(1) 37T am (2) wiamaT§ zZwft
Q- gt Zeqe (4) gritard wmem
Who was the president of the 1957 National Commission for Female Education ?
(1) Anutai Wagh (2) Shantabai Dani
(3) Durgabai Deshmukh (4) Durgabai Bhagwat
/ 1. IETETRE STAHT TYE WY HIR SRR HiES v e A 2
(a) IM.F. wer : (b) TIWH Wi
(c) TrEmETRa H9ad (d) wTqERE T
gt I ;
(1) %4 (a), (¢), (d) (2) % (a), (b), (c)
(3) % (a), (b), (d) 4 (a), (b), (0), (d)

After passing away of Dr. Babasaheb Ambedkar, who from the followers of
Dr. Ambedkar, became members of the Congress ?

(a) R.D. Bhandare (b) Rajabhau Bhole
(¢) Dadasaheb Rupwate ~(d) Bapusaheb Rajbhoj
Answer Options :

(1) Only (a), (e), (d) (2)  Only (a), (b), (c)

(3) Only (a), (b), (d) 4) (a), (b), (), (d)
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i : bai had Salt
Which of the following two places in Mur dala
time ? j Bazar and Vg
() Bhend! =
dwW

(1) C.S.M.T. and Wadala Paavel 88 adala
(3) Charni Road and Wadala ’i‘f/_’/
Tk ot &l ?
ﬂ&amuﬁmmﬁgﬂﬁ@mﬂﬁnﬂﬁﬂ G
(2) ZEET Tigh WEEH ) ,
n'l

(3) . M. WEWH
@ T dae
Who had established the Manav

at Bombay ?
(1) Atmaram Pandurang Tarkhadkar

(2) Dadoba Pandurang Tarkhadkar
(3) R.G. Bhandarkar
(4) K.T. Telang

o) g T
(3) %= &gl
Who wrote the book called Tahgig-i-Hin,
North India ? y
(1) Mahmud Ghazni '

(3) Ibn Battuta

\}/ (J/'rrﬂ'{ . pr : |
(3) waTTE o i
Which of the follawingils a _; .

(1) Bagor
(3) Pratapgarh

Dharma Sabha at S
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(a) wreft . fafem
(b) Hre C R
() WY ELUE]
d T« iv) i
gt I ;
(a) (b) (c) (d)
(1 (i) (1) (iv) ) (i1)
@ Gy <u.\ (iif)
3) @) (iii) (iv) (ii)
(4) (v) (ii1) (i1) (1)
Match the following :
Mahajanapada King
(a) Kashi (i) Bimbisara
(b) Kosal (i) Ashwasena
() Magadha (iti) Udayan
(d) Vatsa (iv) Prasenjit
Answer options :
@ © (@
1) Gi)) () (iv) (i)

(2) (i) (iv) (i) (iii)
3 (iii) (iv) (ii)
(4) (iv) (iii) (ii) (i)

ﬂu.mmmﬁammm 1932-33 |reft rvrn qreR 3 e Fen ?

ON)  wmnfs grepm & zfem —_—
(3) zfera andt J(4) TS Ry
By which reward was V.R. Shinde felicitated in 1932-33 by the State of Baroda ?
(1) Samajik Puraskar (2) Dalit Mitra
(3) Dalit Sathi (4) Rao Saheb
Y BrATTd ST | SPACE FOR ROUGH WORK | P.T.0.
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W FHrEen A ? ( 4 &8 o
ol | ) @R grom the
. (4
(3) ura ¥y u)\ tmpaﬁshnhuwh’“j
H harged each monti? bY / |
ow much fine was ¢ eir children to school ?

parents who did not send th 2 Three pai.se

(1)  Two paise @ Ten paise o
(3) Five paise : Q\M

| v\ oI UBR.
\/ 18 78, 1m7ﬂ=ﬂﬁwﬂmmwm§‘$‘ g
(a) WRA Hravfl HEG | \Q, 7 - .Ii'
,Mﬂ!ﬁﬁﬂwm. _ R LT
(c) e HHT HAG ﬂl .,,..{ ..-.;n?".-:" .
(d) wzATEEE | ROC R
et For /T e SR/ATE ? | R
(1) & (a) 3 (c) ' e S
(2) % (a) 300 (d) | T e o ‘, _
3) % (a) " o g M |
/m(b) . ' i | ‘.'- .‘
Which Act was sanctioned by British Parliament on 18" July, 19477 o
(a) Indian Partition Act TR AL ] ‘* fﬁ
(¢) Draft Constitution Act - N
() Constitutional Amendment Ac N
(1) Only(a)and(c)
(2) Only(a)and(d) ]

(3) Only (a)
(4) Only(b)
e ST G / SPACE |
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%ﬂﬂ Ab) (¢) %ﬁ-‘@ (d) faeeh
I e [ apan

1) W& (a) 3nfv1 (b)
) %Ed (a)

(2) %4 (¢) ATO07 (d)
(40" Fad (d) ~

e was thfe Hindustan Socialisf Republiean Association established by
revolutionaries like Chandrashekher Azad and Sardar Bhagat Singh ?

(a) Mumbai (b) Nagpur (¢) Kolkata (d) Delhi
Answer Options :

(1) Only (a) and (b) (2) Only (c) and (d)

(3) Only (a) (4) Only(d)

-

\Z 1757 =41 WATHIAT S@HAa Susi1 Wi Soten Fivren war Fam@ wvE [y & ?
Ol(?lf;\ LA ))f e (3) fwwm W Hifran

British appointed Mir Jafar as the Nawab of after the Battle of

Plassey in 1757.

(1) Madras (2) Bengal (3) Bihar (4) Orissa

£, 12064 1290 mmﬁwwmmaﬁlﬁ%ﬁﬁ ?
Ola) wEgE I
OQ:} EEg "l
(c) FIIEH TEH
(d) geqared
it FvE fagm/faur st 3w ?
g (a) FAT001 (c) (2) & (b) 3ft (d)
(B) % (a) (457 (c)
founded the Slave Dynasty which ruled from 1206 to 1290 ?
(a) Mahmud Ghazni
(b) Muhammad Ghori
(¢) Qutb-ud-Din Aibak

(d) Itutmish
Which of the statement/s given above is/are correct ?

(1) Only (a) and (c) (2)  Only (b) and (d)
(3) Only(a) (4)  Only (e) .
Ween) ZTETATS! AT / SPACE FOR ROUGH WORK : _ M
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4w mm”m 7.

<fi o RIS AT .

—

: 3 Tl 3R
) WU TR (2) faum (b) |
‘:.: Zfrﬁﬁ::)snﬁubnﬂmm ( ﬁuﬁ(a)anﬁ(b)iﬂﬂm

Observe the following statements : ! _ .
(a)seSagar cyclonic storm originated in May 2019 in Arabian Sea

: oast.
(b) Sagar cyclonic storm disrupted properties on South Konkan ¢

Answer options : ]
(1) Stategent (a) is correct (2) Statement (lz) )li;%rfggire et
(3) Statements (a) and (b) are correct (4) Statements (a i

(b)

A

TRRTTA W qETEATeA] G HEATeR g ST aTHaTe e aMeel
HYN FUAE I, 7o

YN (FTE) (2) waEE (g’ﬁfﬂ)
(3» TS (q0) (4 FlteTIeh!

\"gsearch was done at with re??r;]r:e to the Middle Age and Copper Age
in terms of human settlement in Maharashtra. i
(1) Patne (Jalgaon) (2) Hatkhamba (Ratnagiri)
(3) Inamgaon (Pune) (4) All of the above

/3‘.1 e o
/8 e et
(a) (i) ©Em
(b) wmamfm N Gi) O
(e) W S (i) fae
(d) s=HfEmEn (i)
gt I ; S

%\l (a) (b) (e) (d)
)

(1) (ii) (iii) (iv)
(Z)~ (iv) (1i1) (ii) (i)
(i) (iv) (i1i) (i1)

(4) (iv) (i1) (iii) (1)
Match the following :
Country/Area i i
(a) India X (i) ?ah;?nhgm Aok
(b) Central America (i) Roca
(¢) Brazil (iii) Milpa
(d) Indonesia (iv) Jhum
Answer options :

(a) (b) (e) (d)
(1) ) (1i) (1ii) (iv)
(2) (iv) (iii) (11) (1)
(3) (1) (iv) (1ii) (ii)
(4) (iv) (ii) (iii) (i)

FEET FTHIIG! AT / SPACE FOR ROUGH WORK
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Fre Y5 ¢

w1 w11
(a) #fee fagia ) o
(b) faga g frgia (i) . dll
(c) dne fag (iii)  ITEHERA
(d) drEam faga (iv) fieered
ot I

(a) (b) (e) (d)

/H’Tii} (iii) @ (iv)

(2) (i) (iv) (i1) (i)
(3) (v) (ii) (iii) (i)
4) (@@ (iv) (i) (iii)
Match the following :

Column I Column IT 1
(a) Cepheid Theory (i) Laplace
(b) Electromagnetic Theory (ii) Dr. Banerji
(¢) Nebular Theory (iii) Alfven
(d) Binary Theory (iv) _Lyttleton
Answer options :

@ ® © @
n G - G @ G
@ Gi) G G @
@ Gv G G O
@ @ G G Gi) I

‘)/__%mqhaﬁmm. |
(QrriEien (2) FweRE

(3) faz@-dansam (4) #9
The father of Human Geographyis |
(1) Herodotus (2)

ey« (8) Vidal-de-la-Blache i"}_ Brunh
Fee HETATS! ST | SPACE FOR ROUGH WORK
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5 Siresn @@l - A
sargTe ;
" () A g TET A1 T8 AT
::, yeradl T (i) e Janm fafa vare —P
e weeTeA! e fawg AEN L
@ T vaE (iv) SeTETH STET SASerel R
waidt 3w :
e
(v i m
J(‘S}!)/(ii} (iii)_ (1) (iv) J\_, —
(iv) (1) (11) (iii) D
(4) (D) (iii) (iv) (1) -
Match the following : '
Types of Stream Explanation
(a) Consequent (i) Stream develops valley across outcrop
(b) Obsequent (ii) Flow controlled by original slope
(c) Subsequent (iii) Flowing opposite to the dip of rock
(d) Braided (iv) Maze of interconnected channels
Answer Options : %
(a) (b) (c) (d)
(1) (iv) (ii) (iii) (i)
(2) (i) (iii) (i) (iv)
(3) (iv) (i) (ii) (iii)
(4) (i) (iii) (iv) (i)

52, frRom: 7 NG
(a) ﬁ?ﬂ;ﬁﬂmwa@m?ﬁ%ﬂ%- o o
W @ i fiy T4 feidl 3 S, |
gt 39 ;

(1) %4 faum (a) @i 38 (2) W faum (b) T MR
£3)_ faur (a) snfor (b) atra SR (4) faum (a) 3nfor (b) a0 T
Observe the following statements :

(a) Jhelum is a tributary of River Indus and flows through Lake Wular.
(b) Sutlej is a southern tributary of River Indus.

Answer Options : :
(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct  (4) Statements (a) and (b) are incorrect

FHoed] HTTATE ST / SPACE FOR ROUGH WORK
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g 34 - - 5
ol mmwmmmm. TEN
(1) fawm (a) snfor (b) wfrar s (2) M (b) ST (c) wiraT A

3) faum (a) snfn (c) s sea \yﬁaaﬂﬁuﬁaﬂmmﬂa

Observe the following statements :

(a) M i ‘
mgzzt:;:. located between Pravara and Kukadi river is Harishchandra

(b) River Manjira flows on Balaghat Plateau.

o) ?:ltl?:;a and Ajantha mountain ranges are between Tapi and Godavari river

Answer Options :

(1) Statements (a) and (b) are correct (2) Statements (b) and (c) are correct
(3) Statements (a) and (c) are correct . (4) All the above statements are correct

\y Gellel JeAT=A1 WhRr=g1 a7 Fren ol

(a) TUHAd FAT (i)  2rFf Y JETET QU1 Ul ATSEn Feheled
(b) HHAA T4 (i) W Mo gE= AR IR
(¢c) uftafaaa=m (iii) U ¥ 52 3 gal Faaa
(d) wiaafaa s=n (v) 2 Yo BHi 9 qIEEA i
gt 39t :
a) (b) (c) (d)
y#/(‘iv) (ii) (iii) (i)
(2) (i) (111) (1) (iv)
(3) (iii) (i) (iv) (i1)
(4) 1) (iv) (1i) (iii)
Match the following for types of folds :
(a) Monoclinal fold (i) Both limbs parallel but inclined to one side
(b) Isoclinal fold (ii) One limb turned over the other limb
(¢) Recumbent fold (iii) One limb inclined and the other perpendicular
(d) Overturned fold (iv) Both limbs parallel to each other and the ground
Answer Options :

(a) (b) (e) (d)
(1) (iv) (11) (i11) (i)
(2) (i) (iii) (i) (iv)
(3) (iii) (i) (iv) (i1)

__ @ o (iv) Gi) (GiD)
e wETaTd) AT | SPACE FOR ROUGH WORK _ e
— L ———— S ——
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J'-/ ot faary yrat AemETETEa wiat ARd ?
Sz gy SEeAe Siea T e A

(b) W vgT fawrardt I9g AR,
Y e p——— R et
qaidt 3w |
(1) faur (a) snfer (b) (2) fum (b) 3 (©)
(4) faum (a), (b) 3o (c)

(@ U (a) 3101 (c) )
Which of the following statements are correct about Bhabhar Plains

(a) The porosity is very high and hence small rivers dmappeal'

(b) The Bhabhar tract is suitable for crops.
(c) The inhabitants of the Bhabhar Plains are cattle-keeping Guijars. .

Answer Options : :
(1) Statements (a) and (b) (2) Statements (b) and (¢)
(3) Statements (a) and (c) (4) Statements (a), (b) and (¢)

\2 WERTgTS Vefteentdie fum wmr
ﬂﬂ?ﬁgﬁaﬁﬁtm@
FAq, Srerdre snfor sifidy wod a1 g2 S e g,
e s et R Sfef s B .
watdt 3w : o9
wr” faum (b) 3nfor (c) e smea
“(2) faum (a) 3fr (b) Fa MR
(3) faum (a), (b) 1M (c) T 2d _
(4) faum (a), (b) 310 (c) T ATt y
ser #ﬂm“masnmﬂmmmmamghm i
- Soi ilMprroblmome o
mmﬂMduﬂmﬂoqdlngmmMc“ and

. "', sq t‘[

i twu'um»u .
o) sww
8 ‘rr m’ '1 | . . |" ﬁw

"I '| FL
i o .I- _P 'Jlf
. ‘ - k'

LR
L
WL

- ':” )
4 '[.:_. Ir_'.,.
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) mm,mmmmm 0
- '""m'wﬁ?mﬁﬁmm :

) mm,mmmqmmﬁuﬂam @
(4)  WEASd W, g wm snfn gem gty wm

Biosphere reserves are demarcated into

(1) Core zone, buffer zone an::r—;sition zone

(2) Core zone,
(3)

(4)

buffer zone and micro ecological zone
Buffer Zone, transition zone and micro ecological zone
Core zone, transition zone and micro ecological zone

(a) feelt o 3 ) () we-wodi
(b) FFTEEA A (ii) m (D T
(c) formg v (iii) " S e Imes
(d) TN WA HER A (iv) = T (V) #ATH
gt 39 ;

|
LIS CIC av) v’ |
@2 (a) (iv) @M v
@ @ G an -
@ ® G

Find the correct pair :
Dams/Projects Rivers States
(a) Tehri Dam (i) Kaveri (D Jammu & Kashmir
(b) Dulhasti Project (i) Bhagirathi (II) Rajasthan
(¢) Shivasamudra Dam (iii) Chambal (Il Uttarakhand
(d) Rana Pratap Sagar Project (iv) Chenab (IV) Karnataka
Answer options :
1) (e (i) (Iv)

B g D
@ O (i) (1n
aprareiTd) O | SPACE FOR ROUGH WORK PTO.
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wwl

(a) m w:.:ﬂ/&
(b) SSTETHG (i)

(¢) WIFETHR 981
(d) fifiurg 9an
ot Iw

(a) (b)

(1) @) (iii)
(2) (@b (iv)

/;ar (iii) (>

4) (v (ii)

Match the following :

(c)

(iv)
(iii)

(i)
(i)

24
ﬁﬂ' 1 ._P'T;‘m ““-n. #
" p!]‘ e 14

! ¥ n -. I-l - ’ﬁ h'ﬂ] ﬂﬂ ﬁ"h['

TOWA R e i W0
faeq 9 e Tty £ 4
(iii) BIATTHE TS ¥ 20
(iv) firafn e
(d)
(i1) v
(0}, o el
i .‘j ‘I Y I ’ i
(;.'v)’ ¥ ) | & r‘.-:.} li‘ _‘Alll,f-\“-
(m) 'ﬁ ' Y w3 | TR
ﬁr‘i{’_ { S eI T . (O
E : S e =) "Rasid
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IV 'i“““"“ﬁﬂmémmmmﬁaaammm

faur (B) : Wﬁﬁa‘%ﬁaﬁmﬁﬁ
Wma’tmméasqz?ﬁm &erl wTal.
ﬂfﬁ?ﬂ}: 5 .

MM(MW&(B}&:@WJ@

@) R (A) i s fav (B) 3
@) T (A) 5% s fawm (B) wivar am
(4) ﬁtrﬁwmﬁnmz}:a:ﬁm

Examine the following statements and select the proper options :

Statement (A) : Every longitude has a different local time due to the rotation of the

Earth.

Statement (B) : Standard time system is utilized to remove the difference in the local
time.

Answer Options :

(1) Statements (A) and (B) both are correct

(2) Statement (A) is correct but statement (B) is wrong
(3) Statement (A) is wrong but statement (B) is correct
(4) Statements (A) and (B) both are wrong

\/ mmﬁmmmmmﬁmmmmmmm

e ——

m .’ _—-—-""""'

F11)  Iwafrem wwd M) ot var

@) s WA (4) fvem )

' ‘__._.__---
In India, which of the following has become a hot-spot with reference to threats to
biodiversity ? _ s

(1) Northwestern India (2) Deccan Plateau
(3) Northeastern India (4) Western India

) _-.u-—'-""'"—-_-
;ﬂlmm'lﬂ’l ST | SPACE FOR ROUGH WORK Ty
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\/( wreftertehl wara ameh A s ?

(a) B getafie wata wrdt wofta age e,

VM ! -.‘H’l'fT a-'l'r_!‘f-l { Biomanass) R ‘"iﬁf.

B! Faegd g uyvftssa sfma fatEaa 3R

(e)
(d) _® wvaraErelte swifeadia afifeadtfiaa se,
\";ﬂfaﬁﬁ #oE fAum/fau ana sRd ?
(1) %% (a) 30f0 (b) (2) %A (a), (b) #f0T (d)
(3) % (c) (4) afta #d
—
Which of the following are characteristics of Coral Reefs ?
(a) These are the oldest living communities on Earth.
(b) It is a high biomass producer.
() It is arich floral and fauna diversity.
(d) These are shallow waimpical PCOS]
Which of the above statement/s is/are col
Only (a) and (b) !

iy 1L
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m:ﬁt; (iv) SIeEHT
(a) (b) c d
1) (iv) (iii) :i)) fii))
vL(2) (i) (ii) (ii1) (iv)
(3) (i) (i) (iv) (i1)
(iii) (i) (ii) (iv)
!‘alatch the foll
State Name of Sanctuaries
(i) Radhanagari
(i) Bhagwan Mahavir
(iii) Pulicat
(iv) Jaldapara
HeEE1 GHIEY Bl ?
{2) % (b)
i) v
includ ehmim] anmt? O s 5
— _—#
H_‘m,.l' say ol il J
aifil el e “"5 .
TRTCN ﬂ 8 iy o o L3
M 1P WS
i s | ll- -
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(@) wEE IeEd T
b) Frifa smm o i

(¢) dTEgHIE W

(d) ATerEa aEgEd arsav g v

et o qATg aat 3R/A ?

(1) &4 (a) 310 (b) (2) & (b) 3 ()
(3) wad () 3 (d) Ly afE =

Given the importance of supply side factors %n determination of inflation in India,

following long-term policies are likely to help.

(a) Changing production patterns

(b) Calibrated import policy

(¢) Focus on transportation

(d) Storage infrastructure for perishable commodities

Which of the above options is/are correct ?

(1) Only (a) and (b) (2) Only (b) and (c)
~_{3) Only (c) and (d) (4) All of the above o~
\Z mmmﬁm(p@mmmmmm@
(1) snifim smguia @) wEdIEE - '
Which factor is not considered while calculating Physical Quality of Life Index
(PQLI) ? ' ~—
(1) Life expectancy (2) Per capita income
(3) Infant mortality (4) Literacy
\)/ wgm 2fa 70 fawedl (TPG) wiefiert #vi fawr( 4 Jk 2 (TPG — Total Poverty Gap)
MW THEA w1 W W HTEF AT THU IqAR WG

A2 Mﬁhmﬁ%mm.mﬁiﬂﬁwmmﬁm.
7D mmmmwmmmmmm
(4) vwgren 2ol 3e fardean aRe dEeR w9 TPG W@,

Which of the following statements are correct about the Total Poverty Gap (TPG) ?

(1) TPG measures the total
poverty line up to that line, | o Peceesary o aise everyone below
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Whic:mf(a) @), (a), (b) for (c)\_dt{bl. (c) srfor @ afterth) wd
Develupment Pt Programmes v b suppoied by Uil Nt
reduchion o e ho iy ?a ong with Government of India for pov
(a) Aﬂ'orda.ble Rural Housing for All
EE; é‘;ﬁ?&ﬁmg?q of Healthh(?ﬂ'rv System in Multiple States (2013 — 2017)
S Strengtheni_:n]q E.celeraz.'ed L.I‘\'f‘]]l}l.(}(lds.‘qlllipﬂrt (GOALS) (2013 - 2017)

g National Capacities in Tribal Areas (2013 — 2017)

Answer Options :
1) Only (a) (2) (a), (b) and (¢) (3) (b), (¢) and (d) (4) All of the above
TR, ¥TEAH 1 FEYEA [T AT ALHFET Ggd ETHRRel,
g:( 2011 ) 2015 (3) 2013 Li4) 2019
t of tra has adopted gender budgeting fron?_'the year

2011 (2) 2015 (3) 2013 (4) 2019
2011 HEA WICIcIdeh! 0T 7079 AT fom Ui Hata S0 8 7

FATeH (2 TR 3) TS (4) wem w2w

of the following St.at»e;s'had the lowest child sex ratio in 2011 ?
(1) Karnataka (2) Maharashtra (3) Kerala (4) Madhya Pradesh

FNTaes dedl ", NRAE YRR @Ieied! Rl qEETe g S s
FavEE AR ? -3 5 ———
(a) w@TE T TAEA

(b) e
T i
-(:1)—) mmmwhmaaf

1 () F00T (b) (2) (a), (c) 30N (d)
wd

(4) I HoETd AT
2 of the following, according to the World Bank, are critical issues to be

India’s urbanisation ?

(2) (a), (¢) and (d)
(4) None of the above
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7 et FR famA e sama fEuiwen (GID) @ g ?
\a s, WE @ W AR 48 AT e s den GI S 3.
(b) GII 2 3= g W fermwra srammas disan gufad.
(¢) e férmreren frasteen dada S awer A AEHOTS SRS A H.
wafdt I B —
(1) & (a) 30fr (b) %44 (b)

(3) afertd S T w&ﬁ;ﬁf

Which of the following is/are applicable to Gender Inequality Index (GII) ?

It provides insights into gender disparities in health, empowerment and the
labour market.

(b) Higher values in the GII indicate worse achievements.

The empowerment dimension is partly measured by the share of parliamentary
seats held by each gender.

Answer Options :

H15

(a)

(c)

(1) Only (a) and (b) (2) Only (b)
(3) None of the above (4) All of the above
amyrfia goreffaveft @refrete S/ faamA aw e ?
: :nﬁrﬁm.m?ﬂ.
TR AT @ Joref! g6 heft amR
(c) qmwmwmamwwwamgsmm
AR,
ggrdt 39 ;
(1) %ad (a) 001 (b) (2) & (b) 3nfon ()
(3) %A (a) 30 (c) \(gaﬂami

Which of the following statement/s is/are applicable to the web based utahty -
BhoomiRashi ? —

(a) It was launched on 1% April, 2018,

(b) It has been launched by the Ministry of Road Transport and Highways.
(¢) It has been introduced to fully digitize and automate the entire process of land

acquisition.
Answer Options :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only (a) and (¢) (4) All of the above

mmﬂm:wmmmm”m Lol 20 41482 .
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Sﬁlw -hfm correct about UN Conference on
melentmmm? '

onference was held in June 2014 in Brazil.

I e laid out Millennium Development Goals for the world

nce adopted guidelines on green economy policies

mber nations de-powered UN Environment Programme in this

§ SRR fdwi smearemEEM (2020 - 21), WRATH sfeefmm

1 782 66 wda muwen R, @1 2019 - 20 HA 60 W
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\ g~ wraw fawm dfeea (MDGs) Swvafawd swarea szt arefietd s/ faura amy

/s 2

() WA A 7Y 9gdia Zizarde g2 ana #e .

(b 2015 =1 SAAHTETA YFAS Mgoae I WRAT AT TEFH WA FOAE TS FeAl
TR,

(LR BT R ST HEET TR SR,
gatdt 39 ;

(1) % (b) A0 (¢)
(2).afte 7d

(3) wad (a) 3f0 (b)
(4) %ad (a) 3foT (c)

Which of the following statements is/are true about Millennium Development Goals
(MDGs) achievements in India ?

(a) India has achieved the poverty reduction in an even manner.
(b) India was on-track to achieve the hunger target after the 2015 deadline.
(¢) Empowering women remains a major development challenge.
Answer Options :
(1) Only (b) and (¢)
(2) All of the above
(3) Only (a) and (b)
(4) Only (a) and (c)

ﬂmmmmmmmmgmm
wEHIAE AT "L

(1) U aran &g e

(2) w@maR FeE W

_A—wfeen §q

(4) fefoem wma &

Name the online platform launched by the Ministry of Women and Child
Development to support women entrepreneurs.

(1) One Stop Centre Scheme

(2) SWADHAR Scheme
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FENTREA (NCST) wreferteh) s fa
h B/ TR 6 2004 7o sfEream wEh

P

: (2) &4 (a) T (b)
(@), (b) 3nfor (c) () affertd &

Of .the”folldwing statements is/are correct about National Commission for
ed Tribes [NCST) ?

nal hody which came into existence in 2004,

pquire into specific complaints with respect to the deprivation
ruards of Scheduled Tribes.

be literacy rate of Tribal community

acilitate women empowerment of Tribal women.

(2) Only (a) and (b)

(4) All of the above

fl &, 71 2007 <A1 A & T v srgeiE T 2
gifteh e A (b) ®HETSFTEAfIa Heer
I T (d) wmde Fea1

i

o (2) & (a) 30fT (b)
("Q__. afie 14
(2007) covers which of the following voluntary
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ﬂaﬂ-ﬁ HIvreft ugdt gedf anfor wr et st dsvaraTd) a2
{3y et ggdt (2) st fowe A
(3) wera & aget (4) T agdt
Which of the following methods is used for measurement of distance between Earth
and planets ?
(1) Parallax method (2) Direct distance measurement
(3) Slope tapping method (4) Echo method

\ﬂ. 110 3iTE" Y G ITFTEA 2 AHNel 33 V fAvaia Sqw Hel raar IS HIE
ﬁgmmm@.momﬁummwmmﬁgamﬂmm?ﬁ?

el fardt i wge w0a emie 2 1\ -
¥ k(l) 726 V (2) 455V 44 e
Cy " ® 1woov @150V Y

When a potential difference of 33 V is applied to a device whose resistance is 110 Q,
some current flows through it. If the same current is to be passed through a device
whose resistance is 500 Q, then how much potential difference is to be applied ?

(1) 726V (2) 455V

(3) 1500V (4) 150V
\/ wrefertd it g 77 Hd ok 2

(1) @& (Hw) (2) fefel

(3) wwa (for) (4T (Fey0,)

Which one of the following is a natural magnet ?

(1) Copper (2) Silicon

(3) Zinc (4) Lodestone (Feg0,)
\/ﬁ. dm(mmm&-n)m TS AT T

(1) w=9qd gfian

(2) wzaren geure fdan snamg

(3) wawh sramm

L arEETE gEden v T s e v

WNARMNWWMMWHM& E :
(1 Mhleh:&ihaﬁm * LS
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: qurarE 0-25 Hex : fafore greauma
5 84 A 9 s, 71 T i i Aok

o 50 Jo 2 L
- /m( 1250 m /
(SJ. 800 m 4) 3@ e £
Calculate the distance travelled by agouhﬂ wave having frequency 1\00%{2 and

wavelength 0-25 m, if it travels for 5 seconds in a certain medium.
(1) 50 km (2) 1250 m

(3”,800“‘ (4) 80 km

—_—

86 ﬁqmw@wﬁtmﬁmﬁ 29 HuAA HWEeTEHiE w9 30 AW HAEATH
ursrten et afemr femedie 2 ' '

O‘Q) 0 | 2.
U 1 @) 12 \ yd [/ o

A cat is sitting in between two plane mirrors. If the angle between two plane mirrors

is 30 degrees, how many images of the cat will appear ? —_—
(1) 0 (2) 1
3 11 (4) 12

87. WIeAeTish! IV HH FEd T gged Fmiv Fa 2

(1) ifaEa (2) wEEHERE

(3) et (4) sfaEfas sifag
Which of the following plant hormone is responsible for senescence ?
(1) Auxin (2) Cytokinin

(3) Ethylene (4) Abscisic Acid

Sreian T YigU SEOTA GEITEA N A, Stea o e s ghEfeersa
wiran G g, @ e fgen F1 fididie ad wd giafeeien Searan o s swa 2
(1) wien _ JETa

(8) e anfon i A fasw (4) @& sufor faam g9 fasm

t will be the eye colour of all female individuals in F1 generation when a white
eyed female Drosophila is crossed with a red eyed male Drosophila ?

(3) Mixture of Red & White (4) Mixture of Red & Blue
e wrATATd) ST | SPACE FOR ROUGH WORK P.T.O.
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m@mmmﬁmmaﬁmm?
(a) fEeEEn AHERR T= FEE sE0

(b) TIETHR TETgae® 3FETE (RNA) 1] 3 e
(¢) RNAT wefiA (9) smawom sreefam sl
e e Ut (Tt Guft) wewfia w0
ﬂ'ﬂ'hﬁ'ﬂﬁ: '

(1) (a), (b), (d) J2)ta), (b), (c)
(3) (a),(e), (d) (4y (b), (c), (d)

Viroids are identified on the basis of which of the following three characteristic
Teatures ?

(a) Much smaller in size than viruses

(b) Consist of circular RNA molecule

()  RNA molecule covered by protein coat

(d) Infect the plant cells

Answer Options :

(1) (a), (b), (d) (2) (a),(b),(c)
(3) (a),(c), (d) (4) (b),(c), (d)

Mﬂmﬁmmmm?

(a) 2R q T
(b) @i "It 9 Faeet gard
(c) TS Tad

(d) v

it 39

(1) w& () &1 (d) (2) & (a) 37T (b)
B (a), D), (c) 3nfor (d) (4) (a), (b), () m(d)@
[ ] —

Which of the following substances are components of soil ?
(a) Stones and sand

(b) Fine so0il and decomposed matter

(e) Chemical substances

(d) Colour substances (Dyes)

Answer Options :
(1) Only(c) and (d) (2) Only (a) and (b)
(8) (a), (b), (¢) and (d) (4) None of (a), (b), (¢) and (d)

FE] FTHTAIS! AT | SPACE FOR ROUGH WORK
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—rﬂﬁ—»gﬁ!—pﬁq_,qﬁ
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Which steps of taxons are followed for classification of animals ?
)

(3)

Species — Genus — Order — Class — Family — Phylum —» Kingdom

(2)  Kingdom — Genus —» Order —» Species — Phylum — Class — Family

Genus — Species —» Phylum — Class — Order —» Family —» Kingdom

i‘f_)_ Kingdom — Phylum —» Class — Order —» Family - Genus —» Species

S ————y

Wﬁﬁfﬁm'wﬁmammmamﬁm.ﬁ&ma
FATH e THHHI T srwar o) wrefer e e -
(a) JI9IGHAT
(b)
(c) 9N =%
(d) 391 yam®
Fhieted! Hivd faum/faum ste smea ?
(1) a4 (a) (2) & (a) 3nfUT (b)
'\1.3)\ (a), (b), (¢) 3T (d) (4) (a), (b) 3nfor (d) A
F-

Ecosystem is a self-regulatory and self-sustained structural and functional unit of
nature where biotic and abiotic components are linked together with the following

processes :
(a) Productivity

(b) Decomposition

(¢) Nutrient cycling

(d) Energy flow

Which of the statements given above is/are correct ?

(1) Only (a) (2)  Only (a) and (b)
@) (a), (b), (c) and (d) ' (4) (a), (b) and (d)
;!mmuﬁm | SPACE FOR ROUGH WORK P.T.O.
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mwmmmm%mm@m t 3% FUTH JEA.
(a) foren wreet 3@ amd Hey
(b) WWWMHWWWW-
(c) fToegelrem wnfler wmmem sfadiordty anfon ke & @5 FEw.
(d) wadue, Ruaw, v foow. fk wi stérmmReemREE ST HEA.
el Hro ﬁ“ﬁfﬁm[@m/a ? -
L—ta), () 31T (d) (2) & (a) A (c)
(3) & (d) (4) wa (b) 3001 (d)

Pituitary gland is endocrine gland connected to hypothalamus at the base of the
brain. It secretes many hormones_

(a) Itis called as master endocrine gland.

(b) Its anterior part is neurohypophysis and posterior is adenohypophysis.
(¢) Oxytocin and Vasopressin are secreted by posterior pituitary.

(d) STH, TSH, ACTH are secreted by adenohypophysis.

e ————

thh of the statements given above is/are correct 7

Jd»=(a), (c) and (d) (2) Only (a)and (c)
(3) Only (d) (4) Only (b) and (d)
94, TSI vaATHISEAIETEN #Eed SHECAH @EEtd Byt Wi ofdted Fuim
Hefte afdts wea 71 2
(1) fewmEETR (2) fermgre
(3) fermgmm (4) A
During Krebs cycle in respiration, fumaric acid gets converted into malic acid by
(1) decarboxylation (2) dehydrogenation
(3) dehydration (4) hydration
\),/ mriﬂin U ] E EE SO T aeden v,
(2) =q:99H
f3l ag,ma W, FEEE FA
In a diamond, each carbon atomis _______ surrounded by other carbon atoms.
{11 linearly (2) tetrahedrally
(3) tetragonally (4) octahedrally
/ﬂm s S\
03 @N, 02 ﬁx 01
An atomic number nf’l‘ntlum is ,
(1) 03 (2) 04 (3) 02 (4) 01
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5 @mﬂ'ﬂ'amm ————— T AR T wd=a gaw 70% W A
(2) HeEfewm
(3) wmiIfEERR (4) Fraifewm
The part of the Earth’s atmosphere contains about 70% of the total air in
the atmosphere.
(1) Stratosphere (2) Mesosphere
(3) Thermosphere (4) Troposphere

\//%ﬁwﬂﬂmwmmm_m Fagen Sitd) — fam ) (o — Fasi);
afum S - dfm A @A - o) 3 g a - dfm 9 (. - W)
fagafeafas sfvado 3 i g 9m,
Oy R A, <A —w, <, - i,
(2 RS -f > s s > a5 - da.
() WM. -ARN. < A - s < o —a0
)ﬁ}—iﬁ.ﬁh. - &9 > qF. —da, > A5, - s
' The electrostatic repulsion between electron pairs such as lone pair — lone pair
(Lp. — Lp.), bond pair =bond pair (b.p. — b.p.) and lone pair — bond pair (1.p. - b.p.) in
a given valence shell decreases in the order of
(1) Lp.-Lp.<lp.-b.p. <b.p.-b.p.
(2) Lp.-Lp.>Lp.-b.p.>b.p.-b.p.
(3) b.p.-b.p.<Lp.-Lp. <Lp.-b.p

(4) Lp.-b.p.>b.p.-b.p.>Lp. -Lp.

_ AWe) §eHTA A 9] . \,_\
H=1,C=12,0=161=127T

" 250 W HEATER THEE (2) 221 w7 T
'(3) 451w qofi (4) 107 FAETA

The maximum number of molecules are present in ]
[H=1,C=12,0=16,1= 127]

(1) 250 g of iodine crystals (2) 22 g of carbon dioxide
(3) 45 g of water (4) 10 g of hydrogen gas
' e
‘ \)56 V,07% we v oft sifeudiwo feadh & snk.
k (1) +5 f2) - (3) +4 (4) +10
The oxidation state of Vin V, Oi‘ is - '
(1) +56 (2) -6 (3 +4 (4) +10
Feeq HHTATE! AN | SPACE FOR ROUGH WORK PTO.
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